R7.4[1R]JTHA+ M5 HEREEEH (GGLELEEBEBIDSES) R7.2.15%4%
BRE& 0% 1% 2% 3% 4% 5% &3
BEAK 7 11 0 5 3 0 26
2E 7L 6 7 0 0 0 0 13
’ _ BN 11 12 0 0 0 0 23
HyESR 7L 6 7 1 1 0 0 15
BEAK 12 10 8 1 2 0 33
ooz 7L 3 10 1 4 0 0 18
P BEAH 9 11 3 0 0 1 24
cl3es A 3 7 1 2 0 1 14
BEAK 9 11 10 1 0 0 31
#et 7L 7 8 3 1 1 0 20
R BEAK 10 10 2 2 0 0 24
NKANT 7 L 12 26 9 10 2 1 60
z¢E BRAH 15 13 0 0 0 0 28
< A 8 10 2 2 0 0 22
. BEAK 9 9 6 1 0 0 25
#EDD 7L 9 15 6 3 0 0 33
BEAK 10 5 3 0 0 0 18
L 7L 6 6 0 2 0 0 14
- — BEAK 9 6 3 3 0 1 22
EA=A8= AR 5 4 0 1 0 0 10
BEAK 14 8 4 0 0 0 26
\}
L 7 LA 4 5 3 0 0 0 12
HEAM 12 14 4 0 0 0 30
N
Lo 7 LA 11 12 3 5 0 0 31
zz3 BEAH 8 8 3 2 1 0 22
b A 4 2 4 1 1 0 12
= BEAK 9 3 2 1 0 0 15
ERCLE 7 A 8 17 6 6 2 0 39
BEAK 6 5 1 0 16
DIDE 7 LA 4 5 3 3 0 0 15
. HEAM 10 6 4 0 0 0 20
HHT5 7 LA 13 24 5 5 1 0 48
R BEAK 8 5 1 0 16
DU G e 6 10 2 0 20
e e | EAR 7 11 0 18
BIRECLEE B LREL 6 8 0 14
BEAK 9 1 1 11
IS B LERER 4 3 0 7
o BEAK 6 9 5 0 0 0 20
BHTBENOL 7 7 11 2 1 0 0 21
= BEAH 6 4 1 0 0 0 11
PELA5 7 15 26 5 7 1 2 56
o BEAK 6 2 2 2 0 0 12
RF#EH0 7 3 8 1 0 1 0 13
s mesrE | FEAR 6 4 1 0 0 0 11
BIFERE P 3 9 2 1 0 0 15
.1 A J BEAK 6 2 8
CACOREBE 1 0 1
= mesrm |FEAH 3 3 8
CCATIT1REE e 0 0 0
Eobphl—h | 6 0 6
7L 3 1 4
N BEAH 6 2 8
HHETEN—h 7L 2 0 2
- BEAK 0 0 3
#9583 7L 0 0 0 0
- BEAK 4 4
HENRE 7 LR 0 1 0 1
ast EEIN 217 199 71 24 6 2 515 (519)
=e m—memmEs| 153 247 60 56 10 4 530

KE—RERBROVWTUIRFESDAROLYD. BEERDBENDDET . *OAERENRESELESATETT,
KB ABITEFE R OBFT - 85FT. EERPOAECREAHIREOEEEBECLNZEBE(LRZAEEENHDET .,

KEEAHE HH6ELI0R4HFROALTY .




